WYR29FE AHIEERINR
A - MBEBRER HENE B 8 B 8 £ ]
124095 TR T StEHEKXIEE 0 SZFR - HeRPTEL TR 0
BT KES
IREHIKX I EE 0 FTELEEE (KFEdzaE38, ) nf 3,122
EREFXAGKRSHAD (H30.1.131R7E) 7,500 A A %?Z,féiif{({;%'m 1,039 BENS I 3
RIS ox REHK XIS EE 620,000 ElE 0
(DB5EKICHDDED) ’ IEE@E
RFEBEKAD v -
s K G SBFKCHDEED) 0 SRS 0
" Py TR pamkeema 0 peiRee e 0
= (5B5BKICHDDED)
i m 301,329 REHKAD 0 B 1
B TRBE |REEBHOKIES ;fji_"j;;’g;fﬁﬁ; PR - DR
= 2 e =] =re
[ nf 1,847,848 e 0 SEBEY 9
QEIEuAVA i 8 REBOKAD 0 ST 2
L . RIS Pk eSS K R —
B Z0fth f&AT 0 (SBBKICHNBED) 0 SEBISH 1
sE% . BRI II ot 172,376 R | e 0 Tt 0
o7 RIS kR T e @B —
Zoft m 0 (3B5EKCHNZED) 0 SEBRN 0
e (=52 I 0 J=32=5+ - ISV RBAD 0 S B 1
EES | sppepe == F 0 SHEBLELEAD 4,365 %g‘g%ﬁ SEHEN 0
BEIiER (hErs) m 6,038 - [ELEIE AV e 3 — BT 2
REP B
MBERE (FhEIA) m 0 D=z s —EPBIEMAS TSR | BT 0.0 SRS 0
)USE&B*JJ:
MIBAD A ss | [ pEmTme e 0 s B 1
UER o [ 3R
gER RIS K 254 ERE | _memmsimeg s 0.0 — 0
Ll WA D A 7,461 s s | DEIAIIIHGER A 0 " B 1
CH = FFEK1S
FRIBINESR ¢ 3,543 e e e v r 0.1 SEEEN 0
N GELIEvY=] A 0 = gy |PBRIEES | BTG B 0 5 BT 1
HeKE -~ A -
[ —AFHESE | A o [B®  h-n  |—mmmeses s 0.0 SEBES 0
KESE |#5KAD
BRIk QEEIETY=] A 0 s | DORITINER B 0 Rgry— i 1
518 S =L P - =m0 o
—WEHESE | A 0 — BRI S TIIESR | BT T 0.0 SEDK Bl 0
BIEHKAD | A 2,522 p— ISERRR | ThEIA TI5EER Bl T 0 BROR BIEHEN 0
SEMER
SEHOKREERE | f 1,800,000 FAEsE | hEIA TI5EES EE: T 0 BT 37
e ES i
REHKRIEER | nf 1,574,800 Y HME | BN IR B T 0 L@ 1,828
STEARIMBIR | 3T 1 EEB zfgﬁ T ETAY Y7 ME5S BT it 0 _— T (i) 530,534
1JIK8
TKBE | RETKE IRTERRRAMBIRHL | (i 1 2y GEEE) 44,123
NEHE
HENEREES | o 1,800,000 it (HoFE) 44,970
EEEE
BB | of 1,574,800 21 GEGER) 5,310
REMERERAD 2,522 THRERES Tty () 0
B2E
FHEKSEFRESAD | A 2,132 ZDHOERE T (iE 0




